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puzzle note
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(K,4)




B(1,J) = 1 (1,9
=0
w(L,d) =1 ()
=0
T(K,L,M) =1
=0
c(,d) =1 1,
=0
bL(1,J) 1 1,9)
0
bD(1,J) 1 1,9
0
bR(1,J) 1 1,
0
bu(1,3) 1 1,9
0
N(1,J) K 1,
minimize
X
subject to
B(1,D)+W(1,3) 1 (=1,2,.... Nr)
J=1,2,.... Nc)
(TCR) I
Nr Nc
2 2 B(1,Y) sSum(K) (K=1,2,.... NF)
1=1 J=1 NF
1,9
Sum(K)
8
> TK,L,M) 1 (K=1,2,.... NT)
V=1 (L=1,2,.... N(K))

NCK)



N(K)
S OTK,L,M) 1 (K=1,2,.... NF)
L=1

(M=1,2,.... 8)
T(K,L,M)=1
T(K,L,M)  B(I,J) (K=1,2,.... NF)
M=1,2,.. .. 8)
(1,9
T(K,L,M)=1
TK,LM)  B(,d) (K=1,2,.... NF)
(L=1,2,.... N(K))
M=1,2, .. .. 8)
()]
(K, M-1)
(K, M+F(K, L))
F(K,D)
B(I1,J)  B(I1-1,3)+B(1,J-1)+B(1+1,3)+b(1,J+1) (3=1,2,.... Nc)
(=1,2,.... NF)
B(1,d)+B(1+1,0)+B(1+1,J+1)+b(1,J+1) 3  (J=1,2,.... Nc-1)
(1=1,2,.... Nr-1)

bL(1,3)+bR(1,J)+bU(l,I)+bD(1,I)+bigh*C(1,J)  B(I1,J) (J=1,2,.... Nc)
(1=1,2,.... Nr)
bL(1,J)+bR(1,J)+bU(N,J)+bD(1,d) 1 (J=1,2,.... Nc)
(1=1,2,.... Nr)
bL(1,J)+bR(1,J)+bU(1,J)+bD(1,3)+W(1,J) 1 (J=1,2,.... Nc)
(1=1,2,.... Nr)
bL(1,J)+W(1,3-1) 1 (J=1,2,.... Nc)
bR(I,D)+W(1,J+1) 1 (1=1,2,.... Nr)
bu(l,J)+w(1-1,3) 1
bD(1,J)+W(1+1,J) 1

ZNC bu(1,J) 0
J=1
Nc
> bD(Nr,Jd) 0
J=1
Nr
?;1 bL(1,1) 0

IZN: bR(I,NC) 0



bL(1,J)+bR(1,J-1)
bR(I,J)+bL(1,J+1)
bu(l,J)+bD(1-1,J)
bD(1,J3)+bU(1+1,J)

e

Nr Nc

22 Ccy 1

1=1 J=1

J=1,2,.... 9
(1=1,2, .. .. NIr)

C(l,)+w(,J-1) 1 =1,2,.... Nc)

(=1,2,.... Nr)
N(1,d)+bigv<{1-c(1,1)} 1 (J=1,2,.... Nc)
N(1,J)  l+bigw{1-Cc(1,J)} =1,2,.... NK)
bR(1,J-1) = 1 N(1,D)+1  N(1,J-1)
N(I1,J)+1  N(1,J-1)+bigw*{1-br(1,J-1)} (1=1,2,.... Nr)
N(I1,d)+1+bigh*{1-bR(1,J-1)} N(,J-1) (J=1.2,.... Nc)

NCE,D)+1  NQI,J+1)+bigW*{1-bL(1,J+1)}

N(1,J)+1+bigh*{1-bL(1,J+1)}

N(I,D)+1  N(I-1,3)+big*{1-bD(1-1,J)}

N(I,J)+1+bigh*{1-bD(1-1,J)}

NCE,D)+1  N(I+1,3)+bigh*{1-bU(1+1,J)}

NI, J)+1+bigW*{1-bU(1+1,J)}

bounds

b

inary

B(1,J) W(I,J)

bL(1,J) bR(I1,J) bU(1,J) bd(l,J)

c(1,9)

T(K,L,M) (K=1,2,...NF)
(L=1,2, .. N(K))

=1,2,...8)
general
N(I,J) (1=1,2,...Nr)
(J-1,2,...Nc)

end

N(1,J+1)

N(1-1,J)

N(1+1,0)
(1=1,2,...\Nr)
(J=1,2,...Nc)



